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124060034_2

Evaluate:

63+ 7x4
A 100
B 244
C 757
D 892

Key: B
Aligned CCLS: 6.EE.1

Commentary: This itemm measures 6.EE.1 because it requires students fo evaluate a numerical expression
involving whole number exponents.

Extended Rationale

Answer Choice A: "100" This response is incorrect and may occur when the student evaluates the exponent
as 6 multiplied by 3 and incorrectly continues to perform operations from left to right.
(18+7)x4=25x4=100

A student who selects this response may not yet understand how to perform operations in the appropriate
order in this type of expression.

Answer Choice B: "244" The student has correctly evaluated the numerical expression involving whole number
exponents and carried out the correct order of operations.

62+7x4=216+28=244

Answer Choice C: "757" This response is incorrect and may occur when the student evaluates the exponent
as 3 times itself 6 times (that is, 3 x 3 x 3 x 3 x 3 x 3) rather than 6 times itself three times (6 x 6 x 6).

729 +7 x4 =729 + 28 =757
A student who selects this response may not yet understand how to evaluate a whole number exponent.

Answer Choice D: "892" This response is incorrect and may occur when the student correctly applies the
whole number exponent, but evaluates from left to right without following the order of operations.

(216 +7) x4 =223 x4 =892

A student who selects this response may not yet understand how to perform operations in the appropriate
order in this type of expression.

Answer options A, C, and D are plausible but incorrect. They are based on conceptual errors made when a
student is evaluating a numerical expression involving whole number exponents.



134060020_2

Which pair of expressions is equivalent?

4(6x) and 10x
4(bx) and 24x

4x + 6x and 10x2

O Nn w »

4x + 6x and 24x

Key: B
Aligned CCLS: 6.EE.4

Commentary: This item measures 6.EE.4 because students are required to identify when two expressions are
equivalent; expressions are equivalent when they name the same number, regardless of which value is
substituted into them.

Extended Rationale

Answer Choice A: "4(6x) and 10x” This response is incorrect and may occur when a student confuses 4(6x)
as the sum of 4 and 6x and incorrectly combines terms. This student also may not recognize that for many
values that can be substituted for x, these expressions do not name the same number.

Answer Choice B: "4(6x) and 24x" The student has correctly identified the equivalent expressions. The student
may have correctly multiplied 4 by 6x to get 24x. The student may also have determined the equivalence of
the two expressions by evaluating them both with the same value of x. For example, if x = 2, then 4(6x) = 4(6 x
2) = 4(12) = 48 and 24x = 24 x 2 = 48. This could be repeated several times, with other values of x, to informally
verify that the expressions consistently name the same number.

Answer Choice C: "4x + 6x and 10x2” This response is incorrect and may occur when a student erroneously
adds the exponents of the variable when combining like terms. The sum of 4x and 6x is 10x, not 10x2. This
student also may not recognize that for many values that can be substituted for x, these expressions do not
name the same number.

Answer Choice D: "4x + 6x and 24x” This response is incorrect and may occur when a student incorrectly
multiplies the coefficients of the terms rather than adds them. This student also may not recognize that for
many values that can be substituted for x, these expressions do not name the same number.

Answer options A, C, and D are plausible but incorrect. They are based on conceptual errors made when a
student is applying properties of operations to generate equivalent expressions.



124060607_2

The length of a rectangular parking lot at the airport is 2 mile. If the area is

3
% square mile, what is the width of the parking lot?

A % mile

B % mile

C 11 miles
6

D 1l miles
3

Key: B
Aligned CCLS: 6.NS.1

Commentary: This item measures 6.NS.1 because it requires the student to interpret and solve a word problem
involving division of a fraction by a fraction.

Extended Rationale

Answer Choice A: -1 mile” This response is incorrect and may occur when a student selects an incorrect

3
operation based on the question in the word problem. The student uses multiplication (; X 1_2_ %) rather

372 6
than division to solve the word problem.
Answer Choice B: % mile” The student has correctly interpreted the word problem and applied the area for

a rectangle (A = Iw) to find the width of the parking lotf. The student divided the total area by the given length
in order to find the width of the parking lot:
1.2_1.3_3

2°7372%27a
Answer Choice C: “1l miles” This response is incorrect and may occur when a student selects an incorrect

6
operation based on the question in the word problem. The student may have used addition (% + % = % + %
= % = 1%) rather than division to solve the word problem.
Answer Choice D: "1 1 miles” This response is incorrect and may occur when a student confuses the divisor

3
with the dividend. A student who selects this response may have some understanding of computing quotients

of fractions. However, there may be a lack of conceptual understanding of how to interpret word problems
involving the division of a fraction by a fraction. The student also may have applied the formula for the area of
a rectangle incorrectly either in the creation of an equation or the evaluation and solving of that equation.

Answer options A, C, and D are plausible but incorrect. They are based on a conceptual misunderstanding of
how to interpret and compute fractions, and solve a word problem involving division of a fraction by a fraction.



124060056_3

What is the area of the isosceles trapezoid shown?

I 9cm {

§6cm

F——45cm —

A  27m?
B 338cm?
C 405wm?
D 54cm?

Key: C
Aligned CCLS: 6.G.1

Commentary: This item measures 6.G.1 because it requires the student to find the area of a special
quadrilateral, an isosceles trapezoid, by decomposing it info two triangles and a rectangle.

Extended Rationale

Answer Choice A: "27 cm?” This response is incorrect and may occur when the student only calculates the
area of a rectangle within the trapezoid, with dimensions 6 cm by 4.5 cm, 6 x 4.5 =27.

A student who selects this response may have some understanding of how to decompose a trapezoid into
triangles and a rectangle. However, the student did not include the areas of the remaining two triangles in
order to find the total area of the given figure.

Answer Choice B: "33.8 cm?” This response is incorrect and may occur when the student only calculates the
area of the rectangle and one triangle within the trapezoid.

6.75+27 =33.75~=33.8

A student who selects this response may have some understanding of how to decompose a trapezoid into
triangles and a rectangle. However, the student may have only included the triangle “shown” in the image
and did not calculate the additional triangle when finding the total area of the given figure.

Answer Choice C: "40.5 cm?” The student has correctly solved for the area of the isosceles trapezoid. The
quadrilateral may be decomposed into two triangles with identical dimensions and a rectangle. To begin, a
student may first subtract 4.5 from 9 to find the dimensions of the base of the two friangles: 9.5 - 4.5 = 4.5.
Since the dimensions of the triangles are the same, the base is half of 4.5: 4.5 + 2 = 2.25.
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The area of the two triangles could then be calculated.
A= 2(%bh)

A=225x6=13.5

The student may then find the area of the rectangle.
A=Iw

A=6x45=27

Finally, the last step would be to add the area of the two triangles to the area of the rectangle to find the total
area of the trapezoid.

13.5 + 27 =40.5
The area of the trapezoid is 40.5 cm?2.

Answer Choice D: "54 cm?” This response is incorrect and may occur when the student multiplies the base of
the frapezoid by the height in order to calculate the total area: 6 x 9 =54 . A student who selects this response
may not have a conceptual understanding of how to calculate the area of a tfrapezoid by decomposing it into
friangles and a rectangle or may incorrectly apply the formula for calculating the area of a rectangle to a
trapezoid.

Answer choices A, B, and D are plausible but incorrect. They are based on conceptual and procedural errors
made when a student is finding the area of a trapezoid by decomposing it into triangles and a rectangle in
the context of solving the mathematical problem.



124060006_2

The table below shows the number of tea bags needed to make different amounts of

iced tea.
Number of | Total Quarts
Tea Bags of Iced Tea
8 2
16 4
24 ?
36 9

What is the total number of quarts of iced tea that can be made with 24 tea bags?

A

5
B 6
c 7
D 8

Key: B
Aligned CCLS: 6.RP.3a

Commentary: This item measures 6.RP.3a because it asks students to find the missing value in a table of
equivalent ratios relating quantities with whole number measurements.

Extended Rationale

Answer Choice A: "5" This response is incorrect and may occur when a student adds 1 quart to the 4 above it
in the table. A student who selects this response may not yet understand how to recognize equivalent ratios or
to solve for missing values in a table of equivalent ratios.

Answer Choice B: "6" The student has correctly identified the missing value in the table of equivalent ratios.
Students may recognize that the values on the left side of the table (Number of Tea Bags) are divided by 4
to arrive at the values on the right side of the table (Total Quarts of Iced Tea). Students may also recognize
that as the number of tea bags increases by eight (from 8 to 16) the total quarts of iced tea rise by two (from 2
to 4) and determine that another increase by eight (from 16 to 24) will lead to an equivalent increase of two in
the total quarts of iced tea.

Answer Choice C: "7” This response is incorrect and may occur when a student selects a number that is
approximately mid-way between 4 and 9. A student who selects this response may have limited understanding
how to interpret a ratio table but lacks precision in solving for missing values in a table of equivalent ratios.

Answer Choice D: "8” This response is incorrect and may occur when a student subtracts 1 quart from the 9
below it in the table. A student who selects this response may not yet recognize equivalent ratios or understand
how to use ratios to solve for missing values in a table of equivalent ratios.

Answer options A, C, and D are plausible but incorrect. They are based on conceptual errors made when a
student is finding the missing value in a table of equivalent ratios.



124060511_4

A printer makes more than 3 copies of a book every hour. Which graph represents the

number of books made in 4 hours?

A €+ttt
0246 8101214161820

g €«+Ht+éo+—+—+—+++++>
02 46 8101214161820

c €<+t t+tot—+—t+—++++>
0246 8101214161820

p €«+Ht+++++o+—+—++>
0246 8101214161820

Key: D
Aligned CCLS: 6.EE.8

Commentary: This item measures 6.EE.8 because it requires the student to recognize that inequalities of the
form x > ¢ have infinitely many solutions and can be represented on a number line diagram; the inequality
also represents a real-world problem.

Extended Rationale

Answer Choice A: This response may occur when the student incorrectly identifies the graph which displays
the number of copies of a book that could be printed in one hour. A student may have selected this graph,
which represents numbers greater than approximately 3, to represent the rate of "3 copies of a book every
hour.” This student may have limited understanding of interpreting inequalities in a real-world problem.

Answer Choice B: This response may occur when the student incorrectly identifies the graph representing
numbers greater than 4. The 4 represents the number of hours rather than the number of copies of a book
being printed. This student may have limited understanding of interpreting inequalities in a real-world problem.

Answer Choice C: This response is incorrect and may occur when the student incorrectly adds the two
numbers in the stem together, rather than multiply. A student who selects this response may have difficulty
selecting the relevant operation when solving a real-world problem.

Answer Choice D: The student has identified the correct representation of the inequality on a number line
diagram. The student correctly determines that in 4 hours the printer can print more than 12 books (4 x 3 =12)
and selects the number line diagram of the inequality that shows a range of values greater than 12.

Answer options A, B, and C are plausible but incorrect. They are based on conceptual errors made when a
student is recognizing that inequalities of the form x > ¢ have infinitely many solutions and can be represented
on a number line diagram.



134060006_1

What is the solution to the equation below?
qw = %

A w= %

B w-= %

C w-= %

D w-= 3%

Key: A
Aligned CCLS: 6.EE.7

Commentary: This item measures 6.EE.7 because it requires the student solve a mathematical problem of the
form px = g for cases in which p, g, and x are all nonnegative rational numbers.

Extended Rationale
2.

Answer Choice A: "w = ) The student has correctly solved the equation.
The student may have performed the following steps:
_2
4w = 3
_2 .
w = 3 4
_2.,1_2
Y=3Xa T
The student may also have tested each of the answer choices provided to determine which will make the
- 4x2_8_3
equation true: 4 x 12-12- 4"
Answer Choice B: "w = % This response is incorrect and may occur when a student attempts to solve for x by
adding 4 to the right side of the equation and in doing so adds 4 to the denominator of %
we-2 _2
4+3 7

A student who selects this response may lack a conceptual understanding of how to solve mathematical
problems of the form px = q.

Answer Choice C: "w = % This response is incorrect and may occur when a student multiplies % by 4, rather
than divides by 4 to solve for x.

_2.4-8
w= 3 x4 = 3

A student who selects this response may lack a conceptual understanding of solving mathematical problems
of the form px=q.



1.
3 2
by subtracting 4 from the right side of the equation and by subtracting 5 from 4.

3
2.2 _12_2 _10_x1
w=d-3=3-3°3°33

A student who selects this response may lack a conceptual understanding of solving mathematical problems

Answer Choice D: "w = 3 This response is incorrect and may occur when a student attempts to solve for x

of the form px=q.

Answer options B, C, and D are plausible but incorrect. They are based on a conceptual understanding of

solving a mathematical problem of the form px = g for cases in which p, g, and x are all nonnegative rational
numbers.



124060024_2

Which number best represents the location of point E on the number line below?

A
\/

-2 -1
A 18
B -16
C 15
D -13
Key: B

Aligned CCLS: 6.NS.6c

Commentary: This item measures 6.NS.6¢c because it requires students to determine the position of a rational
number on a horizontal number line diagram.

Extended Rationale

Answer Choice A: "-1.8" This response may indicate a procedural error when determining the position of a
rational number on a number line. The student may have used 0.1 as the distance between tick marks and
counted from -2 to -1 to determine point E as —-1.8.

Answer Choice B: "-1.6" The student has correctly identified the position of the rational number on the
horizontal number line diagram. The student correctly identified each interval on the number line to represent
0.2.

Answer Choice C: "-1.5" This response is incorrect and may occur when a student estimates or lacks precision
when identifying the location of point E.

As a result, the student places the point exactly halfway between -1 and -2.

Answer Choice D: "-1.3" This response is incorrect and may occur when a student uses 0.1 as the distance
between tick marks when counting from -1 to -2 on the number line.

Answer options A, C, and D are plausible but incorrect. They are based on procedural errors made when a
student is determining the position of a rational number on a horizontal number line diagram.
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124060045_1

Which pair of expressions below is equivalent?

A x+y+x+yand2x+y)
B  5(2x — 3y) and 10x — 3y

C 4x — 5y and 5y — 4x
D

9% + 2y and 11xy

Key: A
Aligned CCLS: 6.EE.4

Commentary: This item measures 6.EE.4 because students are required to identify when two expressions are
equivalent; equivalent expressions name the same number regardless of which value is substituted into them.

Extended Rationale

Answer Choice A: "x+ y+ x+ y and 2(x + y)" The student has correctly identified the equivalent expressions.
Students may determine equivalence by combining the like terms in the expression, x + y + x + y = 2x + 2y
and rewriting using the distributive property, 2(x + y) = 2x + 2y. Students may also select different values for
x and y and notice that these two expressions remain equal. For example, if x = 2 and y = 3 the value of
X+y+x+y=2+3+2+3=10and the value of 2(x+ y) =2(2 + 3) = 2(5) = 10. This could be repeated with other
values of x and y fo informally verify their equivalence. These expressions always name the same number
regardless of which values are substituted info them.

Answer Choice B: "5(2x — 3y) and 10x — 3y” This response is incorrect and may occur when a student
incorrectly applies the distributive property by only multiplying 5 by 2x rather than distributing it to both the 2x
and -3y. The student also did not notice that for many substituted values of x and y, these expressions do not
name the same number.

Answer Choice C: "4x - 5y and 5y — 4x” This response is incorrect and may occur when a student incorrectly
assumes that the order of terms in a subtraction expression does not affect the value of the expression (e.g..
that subtraction is commutative). The student also did not notice that for many substituted values of x and y,
these expressions do not name the same number.

Answer Choice D: "9x + 2y and 11xy” This response is incorrect and may occur when a student incorrectly
identifies 9x and 2y as “like tferms” and combines them to form 11xy. A student who selects this response may
have a limited understanding of how to perform operations between terms that contain variables. The student
also did not notice that for many substituted values of x and y, these expressions do not name the same
number.

Answer options B, C, and D are plausible but incorrect. They are based on conceptual errors made when a
student is applying properties of operations to generate equivalent expressions.

11



124060033 _1

The coordinates of point A are (—6, 4). The coordinates of point B are (3, 4). Which
expression represents the distance, in units, between points A and B?

A -6+
B 3|6
C |6/ +[-4
D 4|6

Key: A
Aligned CCLS: 6.NS.8

Commentary: This item measures 6.NS.8 because it requires the student to find the distance between two
points using absolute value and coordinates located in any of the four quadrants.

Extended Rationale

Answer Choice A: "|-6| + |3]” The student was able to correctly identify the expression which represents the
distance, in units, between the two points. In this case, the distance between the points can be found by
adding the absolute value of the two x-coordinates. Students may have drawn a sketch of these two
coordinates and determined the distance graphically, and then selected the expression that matched the
findings from their sketch.

Answer Choice B: “|3| — |-6|" This response is incorrect because the student subtracted the absolute value
of the two x-coordinates. A student who selects this response may understand how fo determine the distance
between two points within one quadrant, but may not yet conceptually understand how to find the distance
between two points located in two different quadrants.

Answer Choice C: " |-6| + |-4|” This response is incorrect and may occur when the student adds the absolute
value of the x-coordinate of the point (-6, 4) to the absolute value of -4, which may indicate a transcription
error of one of the y-coordinates given. A student who selects this response may not yet conceptually
understand that because the two points share the same x-value the distance between them is defined by the
distance between the two x-values of each point.

Answer Choice D: “|4| - |-6]" This response is incorrect and may occur when the student subtracts the
absolute value of the x-coordinate from the y-coordinate of point (-6, 4). A student who selects this response
may conceptually understand how to determine the distance between two points if both are located within
the first quadrant, but may not yet conceptually understand how to find the distance between two points
located in two different quadrants.

Answer options B, C, and D are plausible but incorrect. They are based on conceptual errors made when a
student is using coordinates and absolute value to find distances between points.

12



124060036_2

Which expression represents the phrase below?

8 less than the product of 6 and a number, x

A 8 -6x
B 6x-38
C ®+x)-8
D 8-(6+x)

Key: B
Aligned CCLS: 6.EE.2a

Commentary: This item measures 6.EE.2a because students must identify expressions that record operations
with numbers and with letters standing for numbers.

Extended Rationale

Answer Choice A: "8 — 6x” This response is incorrect and may occur when the student interprets “less than” as
“less” or records the operations in the order that they literally appear in the given phrase. A student who
selects this response may have difficulty correctly writing expressions, in particular those involving subtraction.

Answer Choice B: "6x — 8" The student has correctly identified the expression that records both the operation
of subtraction and multiplication. The student correctly translates the “product of 6 and a number, x” as the
operation of multiplications as well as the phrase "8 less than” ("8 subtracted from”) to identify the correct
expression, 6x — 8.

Answer Choice C: "(6 + x) — 8" This response is incorrect and may occur when the student interprets “product”
as the answer to an addition problem. A student who selects this response may not yet have a firm
understanding of the language used to describe mathematical operations in expressions of this type.

Answer Choice D: "8 — (6 + x)" This response is incorrect and may occur when the student interprets “product”
as the answer to an addition problem and also interprets “less than” as “less.” The student may also be
incorrectly recording the operation of subtraction in the order that it literally appears in the given phrase. A
student who selects this response may not yet have a firm understanding of the language used to describe
and record mathematical operations.

Answer options A, C, and D are plausible but incorrect. They are based on a conceptual understanding of
how to write or identify expressions that record operations with numbers and with lefters standing for numbers.

13



134060067 _2

Point G is the point (3, —1).

- N W &~ wu

A
A
2

Which point is 5 units from point G?

A point A
B point B
C pointC
D pointD

Key: B
Aligned CCLS: 6.NS.8

Commentary: This item measures 6.NS.8 because it requires the student to graph a point on the coordinate
plane and to find distances between points, using coordinates and possibly absolute value.

Extended Rationale

Answer Choice A: "point A” This response is incorrect and may occur when the student does not count the
number of units between the points in coordinate plane; a common error is when the student counts the
number of lines, rather than intervals between lines. A student who selects this response may not yet
understand how to use the coordinate plane to find the distance between two points.

Answer Choice B: "point B” The student was able to correctly graph the point (3, -1) and determine that point
B is 5 units from point G. The student may have used the graph to count the number of units between point B
and point G. The student may also have added the absolute values of the x-coordinates of point B, located at
(-2, -1) and point G: |3] + |-2| =5.

Answer Choice C: “point C" This response is incorrect and may occur when the student counts 5 units up and

5 units to the left of Point G. A student who selects this response may not yet understand that the distance
between two points on the coordinate plane is the straight line distance between two points.

Answer Choice D: “point D" This response is incorrect and may occur when the student does not count the
number of units between the points in coordinate plane; a common error is when the student counts the
number of lines, rather than intervals between lines. A student who selects this response may not yet
understand how to find the distance between two points on a coordinate plane.

Answer options A, C, and D are plausible but incorrect. They are based on conceptual errors made when a
student is using coordinates and absolute value to find distances between points on a coordinate plane.

14



124060543

In the diagram of a quadrilateral below, the variables represent the lengths of the
sides, in inches.

b-—2

[not drawn to scale]

Write an expression using the variables b and c¢ that could be used to find the
perimeter of the quadrilateral.

Answer

If b =11and ¢ = 16, what is the perimeter of the quadrilateral?

Show your work.

Answer inches

15




Measured CCLS: 6.EE.6

Commentary: The item measures 6.EE.6 because a student is required to use variables to represent numbers
and write an expression to solve a mathematical problem. The student must understand that a variable can
represent an unknown number.

Extended Rationale: As indicated in the rubric, student responses will be rated on whether the student
demonstrates a thorough understanding of the mathematics concepts and procedures embodied in the task.
The response should contain an appropriate solution to all parts of the task using mathematically sound
procedures.

The correct answer may be arrived at by adding all of the side lengths together to determine the perimeter of
the figure.

The expression b+ b — 2 + ¢ + ¢ — b represents the perimeter, which can be simplified as b -2 + 2c.

The second part of the problem requires students to substitute in values for the variables in the perimeter of the
figure.

b-2+2c
(D) -2+206)=9+32=41
The student would then determine that the perimeter of the quadrilateral is 41 inches.

Substituting 11 and 16 into the equivalent, unsimplified expression b + b - 2 + ¢ + ¢ — b will name the same
number:

AN+ (1) =2+ 16) +(16) - 11 =41

SAMPLE STUDENT RESPONSES AND SCORES APPEAR ON THE FOLLOWING PAGES:
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124060105

The area of a rectangular park is 3 square mile. The length of the park is 7 mile. What

5 8
is the width of the park?

Show your work.

Answer mile

25




Measured CCLS: 6.NS.1

Commentary: This item measures 6.NS.1 because it requires the student to solve a word problem involving
division of a fraction by a fraction.

Extended Rationale: As indicated in the rubric, student responses will be rated on whether the student
provides evidence of a strong understanding of solving word problems involving division of fractions by
fractions. The response should contain an appropriate solution and supporting evidence consistent with the
solution given.

The correct answer may be arrived at by recognizing that the area of the park can be found using the formula
for the area of a rectangle, A =1x w. Given this relationship, the student determines that the area of the park
needs to be divided by the given length of the park in order to determine the width.

3.7_3_8_24

578 57735

The width of the park is 24 mile.

35
SAMPLE STUDENT RESPONSES AND SCORES APPEAR ON THE FOLLOWING PAGES:
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124060201

Jodi’s car used 12 gallons of gas to travel 456 miles. How many miles did her car travel
per gallon of gas?

Show your work.

Answer miles per gallon

It cost Jodi $44.88 to buy 12 gallons of gas. What was the cost per gallon of gas?

Show your work.

Answer $

33




Measured CCLS: 6.RP.2; 6.RP.3b

Commentary: The item measures 6.RP.2 and 6.RP.3b because it requires students to understand the concept
of a unit rate, interpret rate language in the context of a ratio relationship, and solve unit rate problems.

Extended Rationale: As indicated in the rubric, student responses will be rated on whether the student
provides evidence of a strong understanding of determining the unit rates in the problem. The response should
contain an appropriate solution to all parts of the task and supporting evidence consistent with the solutions
given.

In the first part of the problem, the correct answer may be arrived at by recognizing that the quantities of gas
and distance have a proportional relationship. Understanding this is often facilitated through a ratio table:

Miles traveled ? 456

Gallons of gas 1 12

Determining the unit rate, the number of miles traveled per gallon, involves dividing the number of miles
traveled, 456 by 12: 456 +~ 12 = 38.

The student would then determine that Jodie’s car travels 38 miles on 1 gallon of gas.

Alternatively, a student could guess different values to multiply by 12 in order to get 456, eventually arriving
at 38.

Similarly, the second part of the problem requires recognizing that the quantities of gas and price are also in a
proportional relationship. To determine the unit rate, or price per gallon, divide 44.88 by 12 to get $3.74 per
gallon.

While guessing and checking could be time-consuming in this part, a student could also guess different values
to multiply by 12 to get 44.88, eventually arriving at 3.74.

SAMPLE STUDENT RESPONSES AND SCORES APPEAR ON THE FOLLOWING PAGES:
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